
???? ?/? 1,2 (1,25?2,5)
 

???? ?/? 1,2 (1,25?2,5)

  

 

???????: ??? ???????? 
????:   

??????? ?????? ?? ????? ??????  

 

???????? 

???? ??????????????? ??? 1 ?? = 29,44 ??. ????????? ????? 1250?2500. ??????? ??????? ??? ???????.    

??????

??? ??????? ?? ???? ??????. 

 

Powered by TCPDF (www.tcpdf.org)

                        1 / 1

https://soucompany.ru/images/stories/virtuemart/product/list khk4.jpg
https://soucompany.ru/index.php?option=com_virtuemart&view=productdetails&task=askquestion&virtuemart_product_id=281&virtuemart_category_id=-1&tmpl=component
http://www.tcpdf.org

